— O
© = o ]
25 : g
S5 = .
T B
_ Hnu = o Oy
[m]
(=]
e B B X >
oW | SEmapts =Bl oofhog o
e G S O e
o o = E%.@mﬂﬂ%.m
x = E € G
S A”W‘ | = < S S
[mi] (] o0 ] O ] D
or as SR i s
[ [m] [m] [m]
[m] [m] ] O - ) - m
© &% 5 0 o H_nﬂ_mw S w O Oody o
00 09g 1] 08 (017 08 OF 0 08 oy 0 08 oy 0
(,_B% Bui ‘sjeos boj) (%) (4 owebioul o) (g owebioul o) (g owuebiour %)
d oluebuiouy d oluebiou|]  eyeydsoydoypo ejeydsoydoshq  ereydsoydAjod

800

2000 0

200

20 200 20

2

20 40 60

fe)
e
®
| -
o
(al
SO
A_I)
(@)]
X
o o
— £
29
= 8
w
(@)]
o

Total C
(log scale, g kg_1)

0

>~
TR
m(
N~
©
I
o
(o)
<t





